FUBAG Komnpeccop FC 230/24 CM2 (230 a/mun_24x1 86ap 1.5kBr) (ILIUDP 61431378)

HO3HHHH KOJI HAVMMEHOBAHUE KOJI-BO
1 45.008 BOJIT (M6x45) 4
2 45.092 IIIAMIEA TPOBEPA (6) 4
3 03.034A I'OJIOBKA BJIOKA ITWJIVHIPA 1
4 40.039A ®UTHUHT YTJIOBOM (3/8"-3/8") 1
5 46.400 TTPOKJIAJIKA BJIOKA LIMJIVMHJIPA 1
6 11.004A IINIACTHUHA KJTAITAHHA 1
7 2




8 34.001B [IJTACTHUHA KJIATTAHHAS (0.3mm) 1
9 28.015 [TOPILIEHD (d47) 1
10 35.200 [TPOKJIAIKA ITMJIMH/IPA BEPXHSIS (d47) (0.8mm) 1
11 10.016 MAJINH]IP (d47x64.5) 1
12 45.157 BOJIT (M8x25) 2
13 45.229 IIIAIBA TPOBEPA (8) 1
14 35.005C [IPOKJIAJIKA LIWJIMHPA HIDKHSIA (0.8mm) 1
15 20,000 HABOP KOJIEL] d47: 2
16 ' KOMITPECCUOHHBIE+MACJIOCBEMHOE 1
17 30.002 ITAJIELL TTIOPIIHSA (d12x37.5) 1
18 46.005 KOJIBIIO CTOITIOPHOE (12) 2
19 03.014 IIATVYH (89xd20xd12) 1
20 12.002 KOJIEHBAJI 1
21 45.154 BOJIT (M8x22) 1
22 45.124 BOJIT KPEIIJIEHM S KPBIIIKU (M6%18) 4
23 33.001 MEPHOE OKOIIIKO YPOBHS MACIJIA (1/2)+KOJIBLIO 1
24 : YIUIOTHUTEJILHOE 1
25 45.138 BOJIT (M6x10) 1
26 03.012 KPBIIIKA KAPTEPA 1
27 36.001 [IPOKJIAJIKA KAPTEPA 1
28 03.010 KAPTEP (d135) 1
29 32.002 CAJIbHVIK (B20x40%7) 1
30 27.001 KOHJIEHCATOP (30mkf/450V) 1
31 45231 TAUKA (M8) 1
32 45.066 LHTAVBA (8) 1
33 45110 BOJIT (M3x6) 1
34 45.095 IIIAIBA TPOBEPA (3) 1
35 31.006 TIOAIIMITHUK (6204-2RS) 1
36 04.022 POTOP 1
37 31.004 [IOJIIIAITHUK (6202-2RS) 1
38 04.027B CTATOP (230V/50Hz d135) 1
39 46.001 KOJIBLIO VIIJIOTHUTEJIbBHOE 1
40 03.0103 KPBILIIKA CTATOPA 1
41 BOJIT (M5%110) 4
42 45.093 IIIAMBA TPOBEPA (5) 4
43 37.001C KPBUJIBUATKA 1
44 46.010 KOJIBIIO CTOITIOPHOE (14) 1
45 45.203 BUHT (M4x6) 1
46 46.066 [IJIACTUHA 3A3EMJIEHUS 1
47 45.058 IIIAMBA (4) 1
48 06.002B KOXYX 1
49 45511 BOJIT (M5%12) 4
50 45.068 IIAHBA (5) 4




51 45.124 BOJIT KPEIIJIEHUS KOXYXA (M6x18) 4
52 26.004 CAITYH (M16x1.5) 1
53 42.080 COEJVHEHUE BbICTPOPA3BEMHOE 1
54 23.132 MAHOMETP 40mm (12Bar 1/8") 1
55 23.137 MAHOMETP 50mm (12Bar 1/4") 1
56 25.003 PET'VJIATOP (1/4"-1/4"-1/8") 1
57 42.026E COEJVHEHUE PE3bBOBOE (1/4"x30) 1
58 21.002 PEJIE IABJIEHWS 1
59 24.014A KJIATIAH ITPEJIOXPAHUTEJIbHBIN (8K gf/C i) 1
60 42.022 TAMKA (3/8") 1
61 42.021 MEPEXOHUK (1/4"-1/4") 1
62 46.026 TTPOKJIAJIKA (d6xd14x1.5) 1
63 44.001A TAVIKA 1/8" 1
64 43.115 TPYBKA PA3T'PY30UHAS (d6x225) 1
65 22.013A KABEJIb CETEBOM (1.0mm?x1.5m) 1
66 46.050 KJIEMMA U (1.5-4) ]
67 46.051 KJIEMMA O (1.5-4) 1
68 08.016 PECUBEP 24L 1
69 38.001A KJIATIAH OBPATHBIM (G1/8"-ZG1/2"-G3/8") 1
70 39.003 KPAH CJINBA KOHJIEHCATA 3/8" 1
71 43.015C TPYBKA BBIITYCKHAS (d10x580mm) 1
72 44.003 TAVIKA 3/8" 1
73 46.029 TTPOKJIAJIKA TPYBKH (d10) 1
74 15.017B OITOPA PE3MHOBAS 1
75 37.008 PYUKA (d20) 1
76 15.002 KOJIECO 2
77 46.041 BOJIT KOJIECA (M10xd15.5%36.5) 2
78 45.076 T'AMKA (M10) 2
79 45.090 IIIAVIBA TPOBEPA (10) 2
80 41.009A BO3VILIHBIA ®UJIBTP (1/2) ]




